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& R W|@EmEES|E 365| 8661| 0.001 0 0.0 0 0.0 | 0049 | 0.006 @) 0
& R W[/ ILFH(E 355| 8346/ 0.001 0 0.0 0 00| 0029 | 0.003 @) 0
& R Wl EB[E 363| 8670| 0.001 0 0.0 0 00| 0013 | 0.003 @) 0
+t B Wt ElE 365 8683| 0.001 ol o0 ol 00| 0023]| 0002 @) 0
t E #le &BE 365| 8680| 0.003 14 0.2 1 03| 0.145 | 0.025 @) 0
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B W R EE 356| 8515| 0.001 ol o0 ol 00/ 0005]| 0.001 @) 0
BE £ MR E|E 360 8589 0.001 of o0 ol 00| 0012| 0002 @) 0
) MBEEEORBNTMICES1 BEHEHN004ppmZEREZ -HHILIXTBERENDSVANS2%DEE D1 A FHEE

(2) —BILER

BRI D1 B FHEDS50.04ppmEBA-BHRDETH D,
f=12L. 1B FEA0.04ppmZTB A= BN 2B ERLIENBHDIE., 2%BFN BIZA>TLS BESITDOWNTIERRSIL

UL\O

| vsng | R | FEEEAC g g | BT | 18 |oswEirmcs
|| e | BE | FEN| gy (02eemERBAL| () Ky | 006ppmE | 004ppmilL |FOME) BT B FHEA

T [AER iz | B3 B & 2=iE B#FEE]E&& B PR 2 hif:flﬁl& O.QGppml«JfffD DEM 0.0_6ppm£

ZTDEE ZOEE ZDEIE |BREZTOEE|9%E | BA-BH
(B) | 5 [ (ppm) [ (pom) | (BERE) | (%) | (BERE) | (%) | (H) | (%) | (H) | (%) | (ppm) (B)
& R w|= B|E 361| 8564 0.004 | 0034 of o0 ol 00 ol 00 0] 00| 0009 0
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£ R M= BlE 361| 8564| 0.00( 0.030| 0.001 361 8564| 0.005| 0055 0.010 93.7
& R ™|@EmE[E 363| 8,630 0.002( 0.131] 0.008 363 8,630 0010| 0.164( 0.023 76.2
& R M|/ ILEF[E 352| 8,439| 0.001| 0.104] 0.006 352 8439| 0.007| 0.160[ 0.015 795
& R W|d R[E 364| 8,681| 0.00( 0.056| 0.002 364 8,682 0.006| 0078 0.015 93.1
& R M[ER @E[E 307| 7,346| 0.01| 0.090| 0.004 307 7,346| 0.009| 0.132( 0.017 89.3
& R Wm|&E #|E 364| 8667 0001| 0069| 0006| 364| 8667 0008 0.101| 0023 85.2
& R Wld #B[E 360| 8532| 0.001| 0.078| 0.005 360 8532| 0.006| 0.112( 0.012 778
t E Wt E|E 365| 8,643 0.001| 0.047| 0.005 365 8,643| 0.005| 0074 0.015 74.6
t E W/ B|E 362| 8616/ 0.01| 0.038] 0.003 362 8,616| 0.003| 0049 0.010 83.5
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B W s EE 364| 8647| 0.001| 0.047| 0.005 364 8,647| 0.007| 0090 0.017 80.2
BE % R E|E 364 8,655 0.001| 0049 0.005 364| 8,655 0.007| 0.084| 0.016 78.9
EOE ETE B|ME 365| 8,643 0.001| 0.054| 0.002 365 8,643| 0.005| 0067 0.012 82.3
Mo RTIR E|E 364 8635 0001| 0048 0004 364| 8,635 0.006| 0.083] 0020 90.6
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£ R M= BlE 365 5452| 0.040 72 443 0 o[ 0.089| 0.050 0.075 0.080
& R W|@EESE 365 5441| 0.036 52 293 0 0| 0.085| 0047 0.071 0.080
& R M|/ ILEFE 363 5.321| 0.039 66 457 0 0| 0.90| 0.048 0.076 0.081
& R W|h R[E 365 5.458| 0.038 55 328 0 0| 0.087| 0048 0.071 0.079
% R W[ &E|E 310 4,599| 0.041 63| 378 0 0| 0.092| 0051 0.072 0.079
& R M@ &E 365 5.445| 0.042 85| 574 0 0| 0.094| 0052 0.076 0.082
& R Wlde  EB[E 365| 5,455 0.043 80 520 0 o[ 0.091] 0.053 0.075 0.082
t E Wt E|E 365| 5,457 0.038 50 303 0 0| 0.081] 0.047 0.072 0.080
N T[N [T 365| 5410| 0.043 95 647 0 0| 0098| 0053 0.081 0.084
B WmKREFE 365 5451| 0.036 61 385 0 0| 0.085| 0049 0.074 0.077
¥ HH M| 365| 5,454| 0.037 44 221 0 0| 0.077] 0.045 0.067 0.075
B W Wl SFx 365 5457| 0.038 47 279 0 0| 0.091| 0048 0.070 0.082
B W o EE 365 5411| 0037 48 257 0 0| 0.089| 0047 0.069 0.077
BE % R E|E 354 5278 0.042 74 471 0 0| 0.094| 0.052 0.076 0.081
2 WE BT B[E 365| 5450 0.041 81 515 0 0| 0088| 0.052 0.076 0.083
MO ETIR EE 363| 5358| 0.038 59 325 0 0| 0086| 0048 0.070 0.078
FREZETIEE B|X 365| 5460| 0.036 36 193 0 0| 0077 0045 0.068 0.077
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& R W= B|E 361 8681| 0013 of o000 0 00| 0.138[ 0.033 @) 0
& R W|@EEH|E 361 8,690| 0014 of o000 0 0.0| 0098 0034 @) 0
&€ R m|/ILEH|E 354] 8550| 0014 of o000 0 00| 0078 0032 @) 0
& R Wl EW|E 361 8,682| 0012 o| 0.0 0 0.0| 0085 0.032 O 0
+ E Wt E|E 361| 8686| 0014 o[ o000 0 00| 0.109( 0.034 O 0
t E WX H|X 361| 8,691 0.017 o| 0.0 0 00| 0.175| 0.039 O 0
t E m|BBE[XR 357 8,639| 0014 of o000 0 00| 0112 0.033 @) 0
t E W[aEES|XR 361| 8,688 0013 of o000 0 0.0| 0093 0028 @) 0
t E WA BE 361| 8,691 0018 24 030 0 00| 0414 0.063 O 0
IR T[N R|ET 359] 8661| 0013 of o000 0 0.0| 0070 0.029 @) 0
n B m|KREFHE 360| 8,686| 0014 of o000 0 0.0| 0068 0031 @) 0
¥ HH M| 361 8,682| 0.015 o 0.0 0 0.0| 0.108| 0.032 O 0
B Wl 8% 359| 8,657 0.015 o 0.0 0 00| 0.156 0.034 O 0
B W o EE 360| 8,672| 0013 of 000 0 00| 0075 0.030 @) 0
=TT E ES 359 8,678| 0.015 of 000 0 00| 0.115[ 0.035 @) 0
HE € W[ E|E 361 8,686| 0014 of 000 0 0.0| 0086 0029 @) 0
R BT WE[E 359| 8,657 0016 of 000 0 00| 0092 0034 @) 0
;O RTIN E|E 361 8678] 0.015 o| 0.0 0 00| 0.102| 0.037 O 0
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€ iR M|EREE[E 361| 8,684 9.8 0 0.0 32.1 22.8 0 0 228
€ iR [/ E[E 353 8,541 72 0 0.0 28.2 17.8 0 0 17.8
& R W R|E 361| 8,681 7.2 0 0.0 296 18.2 0 0 18.2
& R W@ |E 361| 8684 9.0 0 0.0 33.1 235 0 0 235
& R mW|dt  EB|1E 360| 8,677 8.8 0 0.0 323 239 0 0 239
t B Wt E|EF 360| 8,685 1.0 0 0.0 341 265 0 0 265
AN R T[N RET 361| 8,687 96 0 0.0 308 218 0 0 218
W B W SR 360| 8,684 74 0 0.0 26.2 18.1 0 0 18.1
Tk OW T MR 361 8,688 6.8 0 0.0 26.0 19.1 0 0 19.1
B wmKREFE 361 8,688 8.0 0 0.0 24.8 185 0 0 185
BOE A[H (R 361| 8,685 8.6 0 0.0 273 19.8 0 0 198
=TT o E/ =S £ 2 360| 8,666 106 3 0.8 36.7 243 0 1 238
g ET[E E[E 361| 8684 7.9 0 0.0 26.5 185 0 0 185
N BTN E(E 361| 8679 76 0 0.0 253 204 0 0 204
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(B5F) | (opmC)| (ppmC)| (B) | (ppmC)|(ppmC)| (B) | (%) | (H) | (%)
€ R fl= BlE 8697 0.12[ 012 364] 025 004 27 74 0 0.0
t B filt ElE 48| 006 008 2| 0.10| 005 0 0.0 0 0.0
t B WX H[X 8635 006 007 362 022 o003 1 03 0 0.0
AN Y T[N RR[EET 192] 019 0.21 8| 041] 017 1| 125 1| 125
B W W E|E 92| 025 024 4 031 020 3l 750 0 0.0
MO ETIN E|E 8670 004 006/ 363] 027 o0.00 3 0.8 0 0.0
9) A2 RUERIEKSE
A B Y 2R{bkE
mzl we el | 6~ons| s~omsarsm | | | BT g ops | 6~ omsaEs
AT |RER ﬁ’@ Bﬁ% E{Ei’ﬂ ggg ME | R g% ﬂ?ﬂ gg‘; wE | ToE
s | B | s | BECL__
b | RIEE Eaib| RIEE
(BFE) | (ppmC)| (ppmC)| (H) | (ppmC)| (ppmC)| (B | (ppmC)| (ppmC)| (H) | (ppmC)| (ppmC)
€ R M= EB|E 8,697 201 2.02 364| 232 181| 8697 213] 214 364 250 1.93
t B Wt E|E 48] 194 1.95 2 197 1.94 48| 2.00| 203 2| 2071 1.99
t B WX H[X 8635 193] 194 362 265 1.80| 8635 199] 201 362 270| 1.87
AN Tl R ET 192| 1.96| 1.97 8| 206] 1.94 192 2.16| 218 8| 2471 212
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B) | @D | (em) | Gpm) | (BERD) | (%) | (BERD) | (%) =) (%) =) (%) (ppm) D)
& R m|(B)RE |& 364| 8672 0020 0.066 0 0.0 0 0.0 0 0.0 0 0.0] 0.029 0
& R m|(B)RET |7 365/ 8,675 0.032[ 0210 2 0.0 332 38 1 0.3 73 20.0| 0.052 0
& R m|(B)uE [F 362] 8,646 0.005( 0034 0 0.0 0 0.0 0 0.0 0 0.0] 0.009 0
Famm|E)Bam|E 359 8528] 0.016| 0.059 0 0.0 0 0.0 0 0.0 0 0.0] 0.031 0
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(8) (BER) | Gom) | (opm) | (ppm) (8) (R | Gpm) | (opm) | (ppm) (%)
& R m|(BEE & 364] 8,672 0014 0.133] 0025 364| 8672 0035 0.180| 0.051 59.3
& R m|(B)RET |7 365 8,675 0.026] 0311] 0.050 365 8,675 0.058] 0520 0.100 54.9
& R Wm|(B)FE [E 362| 8,646 0.003| 0.040| 0.006 362| 8,646/ 0008 0.073] 0014 66.0
Fahm|(E)FH L |[{E 359] 8528/ 0.015] 0.133] 0.040 359] 8528 0.031| 0.189| 0.067 51.8
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@) | @D [ eem) | (@D (%) =} (%) | Gpm) | (ppm) (BEx - #O) =) (/)
& R m|(B)RE |& 365| 8,700 0.4 0 0.0 0 0.0 2.0 0.5 0] 0 0
& R m|(B)RET & 365| 8,699 0.9 0 0.0 0 0.0 13.9 1.7 O 0 0
& R m|(B)uF [ 365| 8,703 0.2 0 0.0 0 0.0 0.8 0.3 O 0 0
Fahmm|ESam|E 365 8,650 0.3 0 0.0 0 0.0 14 0.5 (@) 0 0
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(B) | E&RED | (me/m®)| EERED | (%) (8) %) | (mg/m) | (mg/m®| B x - £O) =)
& R m|(B)RE |& 361| 8685] 0013 0 0.0 0 0.0| 0.092| 0032 (@) 0
& R w|(B)RHET & 361] 8,681 0.025 67 0.8 1 0.3 0.434] 0.067 O 0
£ R w8 [E 360 8,671 0.013 0 0.0 0 0.0| 0.148] 0.032 O 0
Famm|ESam|E 357| 8616] 0.017 0 0.0 0 0.0| 0.095] 0.036 (@) 0
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@ | e [@emd| @ %) | emd| @ emd () ) (b g/m®
& R m|(B)LF [& 361 8,689 7.1 0 0.0 27.3 19.5 0 0 19.5
Famm|(BE)EFaH|{E 361| 8,684 10.1 0 0.0 34.7 23.2 0 0 23.2
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& R m|(B)RE |& 8,667 0.13] 0.1 365 0.26 0.02 4 1.1 0 0.0
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£ R Wm|(B)RE (& 8,667| 1.94] 1.94 365 205| 1.79] 8667 207 205 365 225 188
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i | 1ot i | R0t B | E Rk R | ERio2 4 B | ERio3 B | ERi2atE B | FRi25 B | FRi26 B | FR2 7R | R8s EE

& R W= ElE 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& R W@ m S|ME 0.002 0.001 0.001 0.001 0.002 0.001 0.001 0.002 0.001 0.001
& R W I B|E 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& R |k =4 0.002 0.002 0.001 0.002 0.002 0.002 0.002 0.002 0.001 0.001
+ B #|t Bl 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
+ B e & B|X 0.000 0.000 0.000 0.000 0.000
+ B w|Rm I |1 0.003 0.002 0.002 0.002 0.004 0.003 0.002 0.002 0.003 0.003
WA 7 N wlET 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.000
moE HK E OFHE 0.001 0.001 0.001 0.000 0.001
ST EN | 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
B oW |E MES 0.002 0.001 0.001 0.001
B £ 4R & 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001

(2 ZEERE (1 BHEHEDER 2 %ERIME) (BRIEHE% - 0. 04ppmLLF)

AT AER A& 1B EHEDER2%BRIME (opm)

izt | e rgioe | Trom i | T Er | ERooa R | ERsE | ERas | TRsE | TRoeEE| TR ERE| s E

& R W= ElE 0.006 0.003 0.004 0.004 0.002 0.002 0.003 0.002 0.002 0.001
& R W@ m OB|ME 0.005 0.004 0.005 0.005 0.005 0.004 0.006 0.009 0.008 0.006
& R Wl Z B|E 0.005 0.004 0.005 0.005 0.004 0.004 0.004 0.003 0.003 0.003
& R | |4 0.005 0.004 0.004 0.004 0.006 0.004 0.005 0.004 0.003 0.003
+ B |t Bl 0.003 0.003 0.002 0.003 0.003 0.003 0.003 0.003 0.002 0.002
+ B i & B|X 0.002 0.001 0.002 0.002 0.002
+ B W& I |4 0.016 0.010 0.014 0.016 0.026 0.022 0.014 0.013 0.022 0.025
WA 7 N 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001
moE HlK B OFHE 0.003 0.002 0.002 0.002 0.002
B 1|1 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.001
ST ES JIES 0.005 0.004 0.004 0.003
B X 4R i [ 0.006 0.004 0.004 0.003 0.003 0.002 0.003 0.003 0.002 0.002




Q) ZBLER (FTHIE)

AT AER A& £ F ¥ {E (ppm)
i | 1ot i | R0t B | E A2 R | ERi22 4 B | ERi23 B | ERi2atE B | FRko5 R | FRi26 B | FR2 1R | R8s EE

& R = ElE 0.008 0.008 0.007 0.007 0.006 0.006 0.006 0.005 0.005 0.004
& R W@ m OS|ME 0.014 0.012 0.010 0.010 0.010 0.010 0.010 0.009 0.008 0.008
& R W I B|E 0.009 0.008 0.007 0.007 0.006 0.006 0.006 0.006 0.006 0.005
P f|{E 0.010 0.010 0.009 0.009 0.008 0.008 0.007 0.007 0.006 0.006
& iR i[ER Fic) (=3 0.013 0.012 0.011 0.011 0.010 0.009 0.009 0.009 0.008 0.008
& iR (@ =4 0.011 0.010 0.009 0.009 0.008 0.008 0.008 0.009 0.007 0.007
& iR |k =4 0.008 0.007 0.007 0.006 0.005 0.004 0.005 0.006 0.006 0.005
+ B |t Bl 0.007 0.007 0.006 0.005 0.005 0.005 0.005 0.005 0.004 0.004
+ B e & B|X 0.002 0.002 0.002 0.002 0.002
+ B &\ 5|1 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.003 0.003
WA 1 N e 0.009 0.008 0.008 0.007 0.008 0.006 0.006 0.006 0.006 0.005
moE HK E OFHE 0.012 0.011 0.010 0.010 0.009 0.009 0.008 0.007 0.007 0.005
¥ | v |7 0.005 0.004 0.004 0.004 0.004 0.003 0.003 0.004 0.003 0.003
SRR T B|% 0.005 0.005 0.005 0.004 0.004 0.004
ST EN | 0.012 0.010 0.009 0.009 0.008 0.008 0.007 0.007 0.007 0.006
B oW |E MES 0.010 0.008 0.008 0.008
B % |4 | 0.009 0.008 0.008 0.008 0.008 0.007 0.006 0.007 0.006 0.005
2 iE RT|E % |1 0.009 0.008 0.007 0.006 0.006 0.006 0.005 0.005 0.005 0.004
B[] [ 0.009 0.009 0.008 0.008 0.007 0.007 0.007 0.007 0.006 0.005
& B AT |FE Blx 0.003 0.002 0.002 0.002 0.002

4) —EEZEFR (1 BEHEDERISWIE) (BBEE% . 0. 04ppm~0. 06ppmLL )

AT g P2 1B FEDERI8%IE (ppm)

sl | Fpr104E | FRR204E | TRk | TRRo2 4 B | T rtos e | Trtoate i | Erkos i | EroeE | ER274E | TR28EE

& R = HIE 0.016 0.016 0.014 0.015 0.014 0.014 0.013 0.010 0.010 0.009
& R W@ B OE|E 0.028 0.023 0.022 0.027 0.022 0.020 0.021 0.021 0.018 0.017
& R W Z B|E 0.019 0.019 0.014 0.016 0.016 0.015 0.013 0.014 0.013 0.011
o & 0.020 0.019 0.018 0.019 0.017 0.016 0.016 0.016 0.014 0.013
& iR T[ER Fic) 0.025 0.023 0.022 0.024 0.020 0.020 0.017 0.018 0.017 0.015
& R (@ |4 0.026 0.024 0.022 0.024 0.023 0.023 0.020 0.022 0.019 0.017
& R | |4 0.016 0.016 0.016 0.015 0.009 0.008 0.013 0.013 0.012 0.010
+ B |t Bl 0.014 0.015 0.014 0.013 0.012 0.012 0.012 0.011 0.009 0.010
+ B i & B|X 0.005 0.005 0.004 0.005 0.004
+ B & I |4 0.010 0.011 0.009 0.010 0.009 0.009 0.008 0.008 0.006 0.007
VA 7 N 0.020 0.017 0.017 0.019 0.019 0.014 0.012 0.015 0.013 0.012
moE HlK B OFHE 0.022 0.020 0.020 0.020 0.018 0.017 0.015 0.016 0.016 0.011
¥ | e |7 0.010 0.009 0.008 0.008 0.008 0.007 0.008 0.009 0.006 0.006
S ITT T B|® 0.012 0.011 0.012 0.010 0.010 0.008
ST EN |1 0.023 0.021 0.019 0.021 0.019 0.018 0.015 0.022 0.015 0.013
ST ES IES 0.021 0.017 0.017 0.027
B X |4 i I 0.021 0.019 0.018 0.019 0.017 0.015 0.015 0.016 0.015 0.011
2 0% RT|E 1|1 0.020 0.016 0.015 0.014 0.012 0.012 0.012 0.014 0.010 0.010
Mo ET(A (1 0.021 0.021 0.020 0.021 0.018 0.018 0.017 0.019 0.015 0.015
e BT | BE SIS 0.006 0.005 0.005 0.005 0.005




(6) —BLER (FLHIE)

AT axg |FE F F ¥ fE (ppm)

i | 1ot i | R0t B | E A2 R | ERi22 4 B | ERi23 B | ERi2atE B | FRko5 R | FRi26 B | FR2 1R | R8s EE
& R = ElE 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000
& R W@ m OS|ME 0.007 0.005 0.005 0.004 0.003 0.003 0.003 0.003 0.002 0.002
& R W I B|E 0.002 0.002 0.001 0.001 0.002 0.003 0.002 0.001 0.001 0.001
P f|{E 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000
& R &R Fic) (=3 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001
& iR (@ =4 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001
& iR |k =4 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.002 0.002 0.001
+ B |t Bl 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.001
+ B e & B|X 0.000 0.000 0.000 0.000 0.000
+ B &\ 5|1 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001
WA 1 N e 0.002 0.002 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001
moE HK E OFHE 0.007 0.006 0.005 0.005 0.004 0.003 0.003 0.003 0.003 0.002
¥ | v |7 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000
SRR T B|% 0.001 0.001 0.002 0.001 0.001 0.001
ST EN | 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.001
B W | MES 0.002 0.002 0.002 0.001
B % |4 | 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001
2 iE RT|E 8|1 0.002 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001
m o RN [ 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& B AT |FE Blx 0.000 0.000 0.000 0.000 0.000

(6) ZEHEALY (FFHIE)

AT AR A& £ F ¥ {E (ppm)

sl | Fpr104E | FRR204E | TRk | TRRo2 4 B | T rtos e | Trtoate i | Erkos i | EroeE | ER274E | TR28EE
& R m|= BE 0.009 0.009 0.008 0.007 0.007 0.007 0.006 0.006 0.005 0.005
& R W@ m HE 0.021 0.017 0.015 0.014 0.013 0.013 0.013 0.012 0.011 0.010
& R mWlh I BE 0.011 0.009 0.008 0.008 0.008 0.009 0.008 0.008 0.007 0.007
& iR % Rr|E 0.012 0.011 0.010 0.010 0.009 0.008 0.008 0.008 0.007 0.006
% iR |8R [ric] [E4 0.016 0.015 0.013 0.013 0.012 0.011 0.010 0.010 0.009 0.009
& R W|&E EB[1E 0.014 0.013 0.011 0.011 0.010 0.010 0.010 0.010 0.009 0.008
& R ®|it EB[1E 0.010 0.009 0.009 0.008 0.006 0.005 0.007 0.008 0.007 0.006
t B m|t BlE 0.010 0.010 0.009 0.007 0.007 0.006 0.006 0.006 0.005 0.005
t B m|gE & B|X 0.002 0.002 0.002 0.002 0.002
t B W|A I3 [E 0.005 0.006 0.004 0.005 0.004 0.004 0.004 0.004 0.003 0.003
AN L 1 W|ET 0.011 0.010 0.009 0.009 0.009 0.007 0.006 0.007 0.007 0.007
B WK OB OFME 0.019 0.017 0.016 0.015 0.013 0.012 0.011 0.010 0.009 0.006
e mH M| 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.005 0.003 0.003
=TT 1] B|x 0.006 0.006 0.007 0.005 0.005 0.005
=R T 1 PN F[1=E 0.015 0.013 0.012 0.012 0.011 0.010 0.008 0.009 0.008 0.007
= INTT 1 ES N ES 0.012 0.011 0.009 0.010
BE & ™R LlE 0.011 0.010 0.010 0.009 0.010 0.008 0.008 0.009 0.008 0.007
g AR 7] [ Ed 0.011 0.009 0.008 0.008 0.007 0.007 0.007 0.006 0.006 0.005
N # BTN M 0.010 0.011 0.009 0.009 0.009 0.008 0.008 0.008 0.007 0.006
e B RT (R Z1ES 0.003 0.003 0.002 0.003 0.003




(1) —EfeE (FEHIE)

AT AER A& £ F ¥ {E (ppm)
i | 1ot i | R0t B | E A2 R | ERi22 4 B | ERi23 B | ERi2atE B | FRko5 R | FRi26 B | FR2 1R | R8s EE
& R = ElE 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.1 0.1 0.2
B £ 0.4
8) —EitxFE (1 BIEMEDER 2 %ERIME) GRIZEXE . 10ppmLLT)
— AT =23 1B EHEDER2%BRIME (opm)
) i | 1ot i | ERi20 4 B | E Rk R | ERi22 4 B | ERio3 B | ERk24tE B | FRi25 R | FRi26E B | FR2 R | FRi2sEE
& R = ElE 0.4 0.4 0.4 0.4 0.4 0.4 0.5 0.3 0.3 0.4
B £ 0.4
9) HEZAXIHFU b+ (BRED 1 BEEDEFHIE)
- e |BE BRDIEREDETE (ppm)
izt | e rgioe | Trom i | T Er | Erooa | ERsE | ERas | TRosEE | TRoeEE| TR ERE| s E
& R = ElE 0.039 0.036 0.037 0.037 0.032 0.033 0.032 0.031 0.044 0.040
& R W@ m OB|ME 0.035 0.034 0.036 0.037 0.034 0.036 0.035 0.039 0.037 0.036
& R Wl Z B|E 0.034 0.033 0.035 0.036 0.036 0.041 0.041 0.039 0.044 0.039
& R | f|{E 0.036 0.037 0.038 0.039 0.036 0.038 0.038 0.038 0.037 0.038
& iR [ER Fic) (=3 0.035 0.034 0.036 0.036 0.034 0.038 0.039 0.041 0.042 0.041
& iR (& #|4x 0.039 0.040 0.040 0.036 0.038 0.043 0.043 0.042 0.041 0.042
& R |4 #|4x 0.037 0.037 0.040 0.039 0.037 0.038 0.032 0.041 0.045 0.043
+ B |t Bl 0.036 0.037 0.038 0.037 0.036 0.039 0.041 0.038 0.040 0.038
+ B X H 0.039 0.037 0.042 0.041
+t B #|E 8 E 0.033 0.039 0.037 0.035
+t B e B B 0.039 0.035 0.038 0.040 0.035
WA 7 N 0.037 0.037 0.038 0.036 0.032 0.034 0.029 0.038 0.042 0.043
moE HlK B OFHE 0.032 0.029 0.033 0.032 0.030 0.031 0.031 0.030 0.037 0.036
¥ | Y| 0.042 0.042 0.044 0.041 0.037 0.040 0.033 0.038 0.039 0.037
SRR T B|* 0.035 0.038 0.037 0.037 0.036 0.034 0.031 0.041 0.041 0.038
ST EN £ 0.038 0.039 0.041 0.038 0.035 0.038 0.037 0.036 0.037 0.037
ST ES JIES 0.038 0.038 0.037 0.039
B % m[R i I 0.036 0.039 0.039 0.036 0.034 0.032 0.032 0.040 0.043 0.042
2 0% RT|E 1|1 0.035 0.035 0.040 0.035 0.033 0.037 0.037 0.037 0.040 0.041
] (1 0.038 0.039 0.042 0.039 0.036 0.039 0.040 0.036 0.039 0.038
FEEEHET(S = ES 0.041
e BT BE SIS 0.045 0.040 0.041 0.041 0.040 0.043 0.041 0.038 0.038 0.036
(10) HEZEAXIA UL (REOBRES 1 BEEDETHE)
. axp |BE BROB RS 1BEEOETHE (ppm)
sl | R 104E | FRR204E | TRk | FRR22 4 B | TR0t e | T rtoate i | Erkos i | Erkoe e | ER274E | FR284EE
& R = ElE 0.051 0.047 0.047 0.047 0.041 0.042 0.041 0.039 0.053 0.050
& R W@ B OEmE 0.048 0.047 0.048 0.049 0.046 0.047 0.044 0.051 0.048 0.047
& R W o BlE 0.046 0.045 0.045 0.047 0.047 0.052 0.051 0.049 0.054 0.048
& SR | EALES 0.049 0.050 0.051 0.051 0.048 0.050 0.050 0.049 0.048 0.048
& R (&R Fic) (3 0.047 0.046 0.048 0.047 0.045 0.048 0.049 0.051 0.052 0.051
& R @ 3l 0.053 0.053 0.053 0.048 0.050 0.054 0.054 0.053 0.052 0.052
& R | 3l 0.050 0.049 0.052 0.050 0.048 0.049 0.041 0.052 0.055 0.053
+ B |t Bl 0.048 0.049 0.049 0.047 0.045 0.050 0.052 0.049 0.050 0.047
+ B X 2] E 0.050 0.047 0.053 0.051
+ B fi|B &8 E® 0.044 0.052 0.048 0.046
+t B Wilae & B 0.050 0.046 0.047 0.051 0.045
VA 7 i 1 B 0.050 0.050 0.049 0.048 0.042 0.044 0.037 0.050 0.053 0.053
moE WKx EoFE 0.046 0.042 0.046 0.045 0.042 0.043 0.042 0.041 0.050 0.049
Bl PR | 0.052 0.053 0.054 0.051 0.045 0.050 0.041 0.047 0.048 0.045
B LW | Bl*x 0.045 0.050 0.048 0.048 0.047 0.044 0.040 0.051 0.052 0.048
B A |4 0.051 0.053 0.053 0.049 0.046 0.049 0.048 0.046 0.047 0.047
B W JIES 0.051 0.050 0.048 0.051
B %= m[#R | 0.048 0.052 0.051 0.047 0.045 0.041 0.041 0.052 0.054 0.052
= e 1% |1 0.049 0.048 0.054 0.047 0.044 0.048 0.049 0.049 0.051 0.052
Mo ET(A #|1x 0.051 0.052 0.055 0.052 0.047 0.051 0.051 0.047 0.049 0.048
FEEEHET(S I ES 0.053
e BT B Bl*x 0.056 0.051 0.051 0.051 0.049 0.053 0.051 0.047 0.047 0.045




an ffeEAXSF b (BE® 1 EFEIBEAO. 12ppmil £ D B )

—-— AED =23 B0 1BERA{EA.1200mL ED B (A)
) i | 1ot i | R0t B | E A2 R | ERi22 4 B | ERi23 B | ERi2atE B | FRko5 R | FRi26 B | FR2 1R | R8s EE
£ R (= HIE 0 0 0 0 0 0 0 0 0 0
& R W@ m OS|ME 0 0 0 0 0 0 0 0 0 0
& R W I B|E 0 0 0 0 0 0 0 0 0 0
P ke 0 0 0 0 0 0 0 0 0 0
& iR i[ER 7| 0 0 0 0 0 0 0 0 0 0
& iR (@ |4 0 0 0 0 0 0 0 0 0 0
& iR |k |4 0 0 0 0 0 0 0 0 0 0
+ B |t Bl 0 0 0 0 0 0 0 0 0 0
+ B X ] B 0 0 0 0
+ B W|E & GE|x 0 0 0 0
t E m|gE & B|X 1 0 0 0 0
WA 7 e 0 0 0 0 0 0 0 0 0 0
moE WK B OFE 0 0 0 0 0 0 0 0 0 0
¥ | e |7 0 0 0 0 0 0 0 0 0 0
SRR T B|® 0 0 0 0 0 0 0 0 0 0
ST EN £ 0 0 0 0 0 0 0 0 0 0
B oW |E MES 0 0 0 0
B %= R | 0 0 0 0 0 0 0 0 0 0
2 iE RT|E |1 0 0 0 0 0 0 0 0 0 0
B[] (1 0 0 0 0 0 0 0 0 0 0
hEEEET| B I=HES 1
e BT BE IES 1 0 0 0 0 0 0 0 0 0
(12) A XAF U b CHBEENHESENERI/I—t 2 1 ILE)
AT AwE A& SEFREIED B RS EDERM99/ S —tE2 21 JLIE (ppm)
sl | R0 | FAR204E | TRk | TRRo2 4 B | T rios e | Frtoate i | Erkos i | EroeE | ER274E | TR28EE
& R (= HIE 0.082 0.079 0.088 0.084 0.077 0.076 0.074 0.076 0.088 0.075
& R W@ B OE|E 0.084 0.077 0.081 0.075 0.083 0.076 0.074 0.087 0.083 0.071
& R W Z B|E 0.078 0.076 0.087 0.075 0.079 0.081 0.081 0.080 0.087 0.076
o ke 0.080 0.082 0.086 0.078 0.082 0.081 0.077 0.085 0.082 0.071
& R (&R Fic) (3 0.080 0.075 0.081 0.075 0.076 0.075 0.078 0.082 0.082 0.072
& iR (& 3l 0.086 0.089 0.087 0.074 0.085 0.080 0.082 0.087 0.084 0.076
& R | 3l 0.082 0.075 0.088 0.072 0.082 0.080 0.066 0.084 0.088 0.075
+ B |t Bl 0.078 0.087 0.086 0.079 0.076 0.075 0.083 0.081 0.087 0.072
+ B X H|*% 0.086 0.083 0.095 0.080
+ B B 8 EX 0.071 0.086 0.088 0.081
+ B wilee & B|X 0.089 0.078 0.089 0.080 0.076
VA 7 N 0.082 0.083 0.084 0.082 0.078 0.076 0.072 0.085 0.086 0.081
moE HK B OFHE 0.075 0.072 0.083 0.074 0.071 0.073 0.077 0.077 0.079 0.074
¥ | e |7 0.081 0.087 0.094 0.080 0.074 0.074 0.078 0.078 0.080 0.067
S ITT T Bl*x 0.078 0.080 0.088 0.086 0.084 0.077 0.073 0.089 0.088 0.070
B W A |1 0.087 0.080 0.088 0.078 0.077 0.076 0.074 0.081 0.080 0.069
ST ES JIES 0.087 0.077 0.085 0.077
B % m[E | 0.076 0.081 0.086 0.078 0.076 0.075 0.071 0.083 0.085 0.076
2 0% RT|E 1|1 0.083 0.078 0.091 0.081 0.078 0.081 0.078 0.083 0.090 0.076
Mo ET(A (1 0.077 0.087 0.092 0.082 0.079 0.077 0.077 0.085 0.079 0.070
FEEEHET( S = ES 0.081
e BT BE Blx 0.096 0.087 0.091 0.078 0.084 0.080 0.078 0.079 0.083 0.068




(13) fE2AFLF b CEMEDHESEDEMIVI—t 2 1 ILEDIFEFY)

A 8EFFHED B R & EDFRM9/ S—+2 5 )LE (ppm)

W HER | i [~ [ERie~ [FR19~ |ER20~ |21~ |FR22~ [FH23~ |FRzi~ [FR25~ |[Frzo~
19FE| 20FFE| 21FE| 22FF| 2FEF| 24FE| 25FE| 26FE| 21FE| 28F5E

= Bl 0.083 0.080 0.083 0.084 0.083 0.079 0.076 0.075 0.079 0.080
o OE|E 0.074 0.079 0.081 0.078 0.080 0.078 0.078 0.079 0.081 0.080
N F|E 0.068 0.073 0.080 0.079 0.080 0.078 0.080 0.081 0.083 0.081
H e (£ 0.075 0.079 0.083 0.082 0.082 0.080 0.080 0.081 0.081 0.079
iR i) (4 0.069 0.074 0.079 0.077 0.077 0.075 0.076 0.078 0.081 0.079
i) B |1 0.081 0.085 0.087 0.083 0.082 0.080 0.082 0.083 0.084 0.082
Eld i1 (4 0.079 0.078 0.082 0.078 0.081 0.078 0.076 0.077 0.079 0.082
t B|ME 0.076 0.079 0.084 0.084 0.080 0.077 0.078 0.080 0.084 0.080
X H 0.083 0.081 0.088 0.086

B # E 0.076 0.079 0.082 0.085

B 0.081 0.080 0.085 0.082 0.082

=
72

£T 0.081 0.080 0.083 0.083 0.081 0.079 0.075 0.078 0.081 0.084
0.075 0.072 0.077 0.076 0.076 0.073 0.074 0.076 0.078 0.077

>t

Hs
R

[

BEIWBODDDTNE S oo oo BB BB

e EREMEEE S B MMM WA MM
55 EHE 3 SIS S S H S S S S ST

PP % 0.074 0.078 0.087 0.087 0.083 0.076 0.075 0.077 0.079 0.075
1] *x 0.078 0.078 0.082 0.085 0.086 0.082 0.078 0.080 0.083 0.082
I/N [E 0.075 0.078 0.085 0.082 0.081 0.077 0.076 0.077 0.078 0.077
= MIES 0.073 0.076 0.083 0.080
pic! Ll=E 0.075 0.077 0.081 0.082 0.080 0.076 0.074 0.076 0.080 0.081
# 1 1% 0.078 0.078 0.084 0.083 0.083 0.080 0.079 0.081 0.084 0.083
A HE 0.072 0.078 0.085 0.087 0.084 0.079 0.078 0.080 0.080 0.078
B B = ES 0.081
H R Blx 0.091 0.090 0.091 0.085 0.084 0.081 0.081 0.079 0.080 0.077
(14) BEMNFRYE (EFHE)
AT AR A& F F ¥ {E (mg/m3)
sl | Fpr104E | FRR204E | TRk | TRRo2 4 B | T rios e | T rtoate i | Erkos i | ErkoeE | ER274E | TR28EE
& R m|= BE 0.019 0.020 0.016 0.016 0.015 0.016 0.016 0.015 0.014 0.013
% R m|@E @ |E 0.017 0.019 0.017 0.017 0.017 0.017 0.018 0.017 0.016 0.014
& iR ®m|/h I BH|E 0.018 0.020 0.017 0.016 0.014 0.014 0.014 0.014 0.016 0.014
& R ®|it EB[1E 0.019 0.021 0.018 0.018 0.016 0.019 0.019 0.017 0.015 0.012
t B m|t BlE 0.015 0.019 0.016 0.018 0.016 0.017 0.016 0.015 0.016 0.014
t B MK H 0.016 0.016 0.015 0.017 0.019 0.019 0.020 0.019 0.019 0.017
t B m|B # E|X 0.017 0.017 0.015 0.016 0.016 0.016 0.017 0.015 0.015 0.014
t E #lkE & B 0.014 0.016 0.015 0.016 0.015 0.015 0.016 0.014 0.016 0.013
t B #W|A 5| 1E 0.021 0.020 0.019 0.019 0.022 0.020 0.019 0.017 0.016 0.018
RN N W|ET 0.017 0.020 0.016 0.017 0.016 0.015 0.015 0.014 0.015 0.013
B WK OB OFME 0.016 0.019 0.016 0.016 0.016 0.018 0.018 0.016 0.016 0.014
e mH M| 0.017 0.020 0.016 0.018 0.017 0.016 0.017 0.015 0.015 0.015
=TT 1] B|x 0.018 0.019 0.016 0.017 0.015 0.016 0.017 0.016 0.016 0.015
=R T 1 PN F[1=E 0.015 0.018 0.016 0.016 0.016 0.016 0.017 0.016 0.015 0.013
= INTT ] ES JII|& 0.016 0.019 0.017 0.018 0.017 0.017 0.019 0.018 0.017 0.015
BE £ ™R LlE 0.017 0.019 0.017 0.017 0.016 0.016 0.016 0.015 0.016 0.014
g AR & |1E 0.019 0.019 0.017 0.018 0.018 0.017 0.018 0.017 0.017 0.016
N BT M 0.018 0.018 0.018 0.019 0.018 0.017 0.018 0.017 0.016 0.015
FREEET| S I ES 0.020
o BE B BT | FE Z1ES 0.016 0.018 0.016 0.016 0.015




(15) FEHNFRYE (1 BFEYEDER 2 %kRIME)

(EREEAE - 0. 10mg/m’LLTF)

- awp |BE 1B FHEDER2%RIME (mg/m3)
‘ Mol | e rgi05 i | TR0 | T2t R | TRi22E R | 2o | R4 | TR | TR265E | TR27EE| TR28ERE
% R W|= ElE 0.056 0.051 0.039 0.047 0.036 0.043 0.059 0.040 0.039 0.033
& R W@ m H|E 0.045 0.047 0.043 0.048 0.040 0.043 0.056 0.042 0.042 0.034
& R W o H|E 0.055 0.045 0.040 0.047 0.036 0.043 0.051 0.040 0.042 0.032
% R |4 3|E 0.051 0.049 0.042 0.052 0.035 0.048 0.059 0.043 0.045 0.032
+ B |t Bl 0.050 0.046 0.039 0.054 0.037 0.045 0.058 0.045 0.048 0.034
+ B |k =] ES 0.050 0.041 0.041 0.046 0.049 0.048 0.063 0.051 0.051 0.039
+ B h|E B E® 0.046 0.043 0.037 0.052 0.040 0.043 0.063 0.043 0.049 0.033
+ E wilee & Blx 0.053 0.042 0.039 0.051 0.040 0.042 0.063 0.047 0.047 0.028
+ B #|&E 5 |4 0.067 0.054 0.048 0.061 0.079 0.060 0.065 0.053 0.054 0.063
WA 7 1 I wm|ET 0.048 0.053 0.041 0.050 0.041 0.042 0.056 0.038 0.043 0.029
moE Wk E OFE 0.044 0.047 0.039 0.052 0.037 0.051 0.062 0.043 0.043 0.031
BoI o PP Ve |7 0.054 0.045 0.040 0.054 0.041 0.045 0.060 0.043 0.044 0.032
B LW |l B|% 0.047 0.044 0.037 0.047 0.036 0.043 0.054 0.041 0.039 0.034
B T 2|4 0.044 0.046 0.039 0.047 0.037 0.044 0.057 0.042 0.040 0.030
B W | JIIES 0.044 0.047 0.038 0.055 0.043 0.046 0.062 0.044 0.047 0.035
B £ |4 | 0.051 0.053 0.038 0.049 0.037 0.044 0.055 0.040 0.044 0.029
b= f & |1 0.052 0.046 0.040 0.048 0.040 0.047 0.057 0.043 0.047 0.034
W BT (1 0.051 0.045 0.041 0.057 0.041 0.045 0.061 0.045 0.045 0.037
FHEEET| S B* 0.057
e BT B Bl*x 0.052 0.045 0.041 0.052 0.036
(16) #MU/NRIFIKYE (EFHIE) (BIEE%E  15ug/mMUT)
s | mem |PE E_F ¥ B (e/md)
sl | Fpr104E | FAR204E | TRkt R | TRRo2 4 B | T rios e | Trtoate i | Erkos i | EroeE | ER274E | TR28EE
& R W@ B OEE 13.1 12.4 10.9 9.8
& R W 2 B|E 10.1 7.2
& R h|h R|E 9.8 7.2
& R (@ 3l 11.5 10.6 9.0
& R | 3l 11.3 105 8.8
+ B |t Bl 13.2 13.5 15.1 13.4 125 1.0
WA 7 1 N 12.5 13.6 11.4 10.8 9.6
W B | B|® 11.2 10.8 9.7 74
BN % M[FR 9.9 95 6.8
moE HK OB OFHE 12.7 12.2 1.4 8.0
¥ R ] 13.1 13.0 1.6 8.6
B |1 11.3 11.9 11.6 13.4 11.3 12.0 10.6
2 0% RT|iE 1|1 10.0 10.1 7.9
Mo BT #|1x 10.5 10.6 7.6
A7) BUNHFIRYE (1 BEHEDER98%IE) (GEEEAE 3B ug/mUTF)
war | mem |TE 1B FHEDFRM98% (1 g/m3)
gl | Epp10E | TAko0E | TRk | ko2 | T Rkos i | Trroate i | Eros i | Emoe | TR AR | TR28EE
& R W@ m HE 35.7 30.4 28.4 228
& iR W/ I FH|E 27.4 17.8
£ R % R=|1E 26.8 18.2
£ R (@ 3l 29.6 274 235
£ R | 3l 31.3 288 239
+ B |t Bl 315 316 38.4 39.0 338 265
WA 71 w|ET 35.3 38.7 33.0 26.8 218
o B | Bl*x 343 31.8 273 18.1
BN (B BUES 26.3 295 19.1
moE WK B OF[E 376 31.2 29.9 185
BoI o PR e |7 38.4 342 305 19.8
B A |4 372 305 33.1 38.8 30.0 29.8 243
b=l &1 253 288 185
o BT | 26.9 29.1 20.4
(18) AR vikibKFE (FEFHE)
AT AER Ri& £ FE 5 fE (ppmC)
IS | 1ot i | E R0t B | ERi21 B | ERio2 4 B | ERk23 B | ERi24tE B | FRkos B | ERi26E R | R | R8s EE
& R W|= ElE 0.11 0.12 0.10 0.08 0.09 0.09 0.07 0.07 0.11 0.12
+ B |t Bl 0.06
+ B w|x =lES 0.05 0.05 0.07 0.08 0.08 0.07 0.08 0.09 0.06 0.06
WA 71 NE 0.19
B £ 0.25
o BT [ 0.10 0.09 0.07 0.07 0.05 0.05 0.05 0.05 0.07 0.04




(19) FEAZ UimibKkFE (6~IBFIZH TS FFE)
AT AER A& 6~9BFIZH T HEFYME (ppmC)
i | 1ot i | R0t B | E A2 R | ERi22 4 B | ERi23 B | ERi2atE B | FRko5 R | FRi26 B | FR2 1R | R8s EE
& R W= ElE 0.12 0.13 0.11 0.09 0.09 0.09 0.08 0.07 0.12 0.12
+ B #|t Bl 0.08
+ B X * 0.06 0.06 0.07 0.08 0.08 0.07 0.08 0.09 0.06 0.07
WA /i1 NE 0.21
B e 1|4 0.24
o BT(R [ 0.12 0.11 0.08 0.08 0.06 0.06 0.06 0.07 0.09 0.06
(20) A2 > (F¥EHE)
AT AER A& £ T 5 & (ppmC)
izt | e rgiow | Tricom i | T Er | ERooa R | ERsE | TRas | TRsE | TRoeEE| TR ERE| s E
& R W= ElE 1.91 1.95 1.94 1.94 1.99 1.98 1.95 1.97 1.99 2.01
+ B |t Bl 1.94
+ B X =]ES 1.82 1.84 1.85 1.86 1.85 1.87 1.90 1.89 1.90 1.93
WA 7 1 NE 1.96
ST EN £ 1.95
n # R [ 1.88 1.89 1.90 1.90 1.91 1.92 1.92 1.93 1.93 1.95
21) #xibKFE (EFHIE)
AT g |FE F F ¥ fE (ppmC)
PR tihigy [ o | T 20 | T RL21 | T RL22 G| TR0 E | T4 | TR5G | FR6E | FR2TERE | FRIBERE
& R = HIE 2.02 2.06 2.04 2.02 2.08 2.07 2.03 2.04 2.10 2.13
+ B |t Bl 2.00
+ B X =]ES 1.88 1.89 1.92 1.94 1.92 1.94 1.97 1.98 1.96 1.99
WA 7 N 2.16
ST EN £ 2.19
2] | 1.98 1.98 1.97 1.97 1.95 1.96 1.96 1.99 2.00 1.99




4 BBHEHHARIEROEMAEHEROEFELL
() ZEe=ER (FEHYIE)

AT AER & £ F ¥ B (ppm)
) i | 1ot i | R0t B | E Rk R | ERio2 4 B | ERio3 B | ERi2atE B | FRi25 B | FRi26 B | FR2 7R | R8s EE
£ R W|BER & & 0.034 0.031 0.027 0.028 0.026 0.026 0.026 0.025 0.023 0.020
& R W|EE B |&E 0.033 0.032 0.032 0.030 0.027 0.026 0.023 0.028 0.031 0.032
£ R (B T |#£T 0.023 0.022 0.020 0.020 0.019 0.019 0.018
& R W|(BER &1 |& 0.022
£ SR W|Ew B 0.006 0.006 0.005
Hamm|(E)Ead & 0.033 0.033 0.030 0.028 0.022 0.022 0.020 0.019 0.017 0.016
(2) ZEIEZEE (1 HEHEDERISWIE) (BEEE# . 0. 04ppm~0. 06ppmLL )
- AT B 1B EHEDERISWIE (ppm)
izt | e rgioe | Trom i | T Er | Erooa | ERsE | TRas | TRosE | TRoeEE| TR ERE| s E
& R W(@ER & & 0.048 0.048 0.041 0.040 0.041 0.039 0.037 0.035 0.036 0.029
& R W|(EE B |&E 0.048 0.048 0.047 0.043 0.041 0.041 0.035 0.049 0.049 0.052
& iR (B T |#£T 0.038 0.039 0.036 0.037 0.033 0.034 0.031
& iR W|(BER & |& 0.033
& R W|Enw ® |E 0.011 0.011 0.009
Hamm|(E)Ead & 0.054 0.056 0.054 0.050 0.042 0.038 0.033 0.035 0.031 0.031

Q) —FEER (FF19fE)

AT AR A& £ F ¥ {E (ppm)

Hbteh | S g 948 e | SRR 2048 B | T Ri21 4 | ERi224 | ERi23 4 i | 244 i | ERios R | ERi26 R | ER2 7R | FRi2sERE
% R m|BX & |& 0.047 0.040 0.028 0.026 0.023 0.021 0.022 0.019 0.017 0.014
% R m|(B)F B |#& 0.050 0.044 0.041 0.033 0.029 0.022 0.020 0.027 0.027 0.026
% R m|(B)#% I |¥T 0.013 0.013 0.011 0.011 0.010 0.010 0.008
£ R W[(BE)ER #1 |& 0.018
% iR m|(Bw # |E 0.003 0.002 0.003
Frmm|(B)EF4AH |[1E 0.030 0.029 0.024 0.029 0.029 0.026 0.023 0.021 0.017 0.015

(4) ZFHBILY (FFEHHE)
T AR A& £ T ¥ {fE (ppm)

Hbteh | S g 048 e | SRR 2048 B | 21 4 | ERi224 | R34 i | R4 i | ERios R | ERi26 R | ER27 R | FRi2sERE
% R m|BX & |& 0.081 0.070 0.055 0.054 0.049 0.048 0.048 0.043 0.040 0.035
& R m|(B)F B |#& 0.083 0.076 0.072 0.063 0.056 0.048 0.044 0.054 0.058 0.058
& R m|(B)#% I |¥T 0.036 0.035 0.031 0.032 0.029 0.029 0.026
&
&

& R W|(B)ER A (P 0.040
& R m|(Ew ®O|fE 0.009 0.008 0.008
Famm|(BFLH |E 0.063 0.062 0.053 0.057 0.051 0.048 0.042 0.040 0.034 0.031

() —MibRE (FFHIE)

wm | mmm |PE F_F 1 {B (o)
sl | R 104E | FAR204E | TRk | FRRo2 4 B | T rios s e | T rroate i | Erkos i | Eroe e | ER274E | FR28EE
£ R m|BR B |& 038 0.7 0.6 0.6 0.6 0.6 05 05 0.4 0.4
£ R W|(B)H BT B 1.0 0.9 0.9 0.9 1.0 1.0 0.8 0.8 0.8 0.9
£ R W[(BE)E T |%£T 0.4 0.4 0.4 0.4 0.4 0.4 0.3
£ R W[(BE)ER B & 0.5
& R M)W # |F 0.2 0.2 0.2
D7 7 1 (€= D N 7N 0.4 03 03 03
Bamm|(E)Fad |[E 05 05 0.4 05 0.4 0.4 0.4 0.4 0.3 0.3
(6) —FibrEFE (1 BEMEDFER 2 %ERIME) (IRBE% . 10ppmLLTF)
o | mes |8 TRFHEDFMIEIME (opm)
‘ st | R 04E i | FRR204E | TRk | T RRo2 4 B | T rios e | T rioate i | Erkos i | Erooa R | ER274E | FR28EE
% R W|(BR & |& 1.1 1.0 1.1 1.0 1.0 0.9 0.8 0.7 0.6 05
£ R (B B B 14 12 14 16 1.9 18 16 1.7 16 1.7
£ R W[(®)E T |%£T 0.7 06 06 0.7 06 0.6 05
£ R W[(BE)ER B & 0.8
& R MW # |F 04 0.3 0.3
QA 7 1 (€= D N 7N 0.6 05 05 06
Bamm|(E)Fad [E 0.8 0.7 0.7 0.7 0.7 0.6 0.6 0.6 0.5 0.5




(D) FFEpFIRYME (FFEHE)
U R E ¥ # {8 (mg/md)
W | Tri196 i | TR0 | Trioi i | Ero26 s | EriosfiE | Eroatr s | Eriost i | Eroet i | Emora ik | Erost

£ R m|BR B |& 0.024 0.021 0.016 0.016 0.015 0.016 0.016 0.015 0.015 0.013
% R W|(B)H B |&E 0.027 0.027 0.025 0.028 0.029 0.031 0.025 0.029 0.026 0.025
% R (B T |#T 0.018 0.020 0.017 0.017 0.018 0.018 0.018
£ R W|(B)ER BT & 0.019
& R WEnw ® | 0.013 0.012 0.013
Famm|(E)Ham |E 0.023 0.024 0.019 0.019 0.020 0.020 0.020 0.018 0.018 0.017

(8) FHEHFRYE (18 FHEDFER 2 %brIME)

(B . 0. 10mg/m*LLF)

1EEHEDER2%RIME (mg/m3)

war | omem |2
il [ pgiom s | Trroosm s | Taoi | Trooe | TRosEE | Troas | Trosaik | TroesE | T2k | T
& R w|ER B & 0.058 0.050 0.037 0.046 0.035 0.038 0.048 0.036 0.038 0.032
& SR H|(EE B |E 0.058 0.058 0.058 0.066 0.078 0.090 0.081 0.072 0.071 0.067
& R H|(EEE ST |#T 0.051 0.045 0.042 0.047 0.039 0.045 0.058
& SR H|(B)ER BT |7 0.049
& R W(Ew B | 0.038 0.034 0.032
Bamm|(E)EFaH 1T 0.059 0.052 0.044 0.050 0.043 0.047 0.060 0.042 0.045 0.036
9) MhHIFIRYE (FFH1E) (BEE%E  15ug/mUTF)
s | mem PR E F ¥ {8 (ug/md)
sl | Fpr104E | FRR204E | TRk | TRRo2 4 B | T rios e | T rtoate i | Erkos i | Eroe | ER274E | TR28EE
£ SR d|Ew B | 10.2 8.6 71
Bamm|(E)FamE 14.6 12.8 115 10.1
(10) #/NEFRYE (1 BEEDERII8%IE) (BIER#E - 3Bug/mLUT)

1B BN ERI8%IE (1 eg/m3)

wor | mem |2
HOleh | g 194F FE | PRk 20E B | F Rk | T2 R | P Ak234E B | TR0 R | T RIS | PRk264E R | TR 1 | A28 ERE
& R WEW B (& 28.8 25.0 19.5
Famm|(B)FLH[E 38.2 34.1 28.7 23.2
(1) A% viibkE (FFYE)
- AES 25 £ F 5 {E (ppmC)
il | TR0 | Troos | Eaoar | Taooar | Taosar| Thoas | Troser | Taocsr | TrorsE| ThossE
& R wER & (& 0.30 0.25 0.16 0.18 0.14 0.13 0.14 0.13 0.13 0.13
(12) FEA% vimibkEFE (6~IFITHIFHFEFHIB)
- axp | Bt 6~9BFISH T HEFHE (ppmC)
il | TR0 | Troos | Eaoran | Taooar | Thosar| Thoass | Troser | Taocsr | s | ThossE
& R mER & (& 0.26 0.21 0.14 0.17 0.13 0.12 0.12 0.12 0.12 0.11
(13) A4 > (FFEH(BE)
- AES b £ F 1y {E (ppmC)
il | TR0 | Troos | Eaoan | Taoosr | Taosak| Thoas | Troser | Taocsr | TrorsE| ThossE
& R WwER & (B 1.89 1.89 1.89 1.89 1.88 1.89 1.92 1.93 1.94 1.94
(14) £RILKE (EFHE)
_— awg | B2 F T 5 {E (ppmC)
I | g9 | FR20ERE | TRk 1R | FR22EE | FR23ERE | FR24GHE | TRi2sEE | Tai2e i [ FR27ERE | FRi2s A
& R WmER & (B 2.19 2.14 2.06 2.07 2.02 2.02 2.06 2.06 2.07 2.07




